				TITLE OF INFOR	MATION COLLECTION	ON DOCUMEN	IT		OMB NO.	
Animal Welfare; Retail Pet Stores								0579-XXXX		
									DATE PREPA	RED
IDENTIFIC	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNU	AL BURDEN			
					REPORTS				RECORDS	TOTAL
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	RECORD- KEEPING HOURS (Col. I x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
) 1 and 2 2	Application for License - Acknowledgement of Regulations and Standards	APHIS 7003 A	1,500	1.00			375.00			0.00
2.1 and 2.2	Application for License - providing PII	APHIS 7030	1,500	1.00	1,500.00	0.2500	375.00			0.00
2.1 and 2.5	Application for License Renewal - Acknowledging Regulation and Standards	APHIS 7003	1,000	1.00	1,000.00	0.2500	250.00			0.00
2.5	License Request to Surrender License		10	1.00	10.00	0.2500	3.00			0.00
2.5	Written Statement License is Lost		2	1.00	2.00	0.2500	1.00			0.00
2.3	Request for Pre-Licensing Inspection		1,500	1.00	1,500.00	0.0800	120.00			0.00
	SUBTOTAL				5,512.00		1,124.00	0.00		0.00
	TOTAL OF ALL PAGES				36,746.00		10,295.00	6005.00		4,921.00
тот	AL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c				42,751.00		15,216.00			

	TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NO.
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1; cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.	Animal Welfare; Retail Pet Stores	0579-XXXX
(F)Total/ (D) Total = (E) Average (H) Total/ (F) Total = (G) Average		1
(K)Total/(I)Total = (J)Average		DATE PREPARED
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6		l
ware list as "1/6" & decimal will display		4

IDENTIFI	ENTIFICATION OF PERCENTING OF PERCENTING PERCENTING				ANNUAL BURDEN						
IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT				RECORDS						
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-	
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS	
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)	
				RESPONDENT					KEEPER		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
	Written Request for Correction of Dollar Amount of Business		1	1.0000	1.00	0.2500	1.00			0.00	
2.8 and 2.27	Change of Address Notification		5	1.0000	5.00	0.2500	2.00			0.00	
2.10	Written Request to Reinstate Suspended or Revoked License		3	1.0000	3.00	0.2500	1.00			0.00	
2.11 and 2.12	Request for Hearing for Denial of License or Renewal		3	1.0000	3.00	0.2500	1.00			0.00	
2.40		APHIS 7002 (optional) or none	1,500	1.0000	1,500.00	1.0000	1,500.00	1,500	0.030	45.00	
2.55	Official Tags Kept for 1 year				0.00		0.00	1,500	0.250	375.00	
	SUBTOTAL				1,512.00		1,505.00	3,000		420.00	

SUMMARY OF INFORMATION COLLECTION TITLE OF INFORMATION COLLECTION DOCUMENT

Page 3 of 5

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

Animal Welfare; Retail Pet Stores

0579-XXXX

OMB NO.

years, list as "1/6" & decimal will display.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average **NOTE:** The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6

DATE PREPARED

IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT											
				REPORTS					RECORDS			
										TOTAL		
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-		
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS		
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)		
				RESPONDENT					KEEPER			
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)		
2.75 and 2.132		APHIS 7005, 7006, 7006A			0.00		0.00	1,500	2.000	3,000.00		
2.75	Written Request for Variance (using other than APHIS 7005, 7006, and 7006A)		5	1.0000	5.00	0.5000	3.00			0.00		
2.75	Request for Hearing		1	1.0000	1.00	0.2500	1.00			0.00		
2.76	Auction Sales and Broker Records				0.00		0.00	5	0.100	1.00		
2.78	Health Certificate - transport dogs, cats	APHIS 7001	1,500	4.0000	6,000.00	0.2500	1,500.00			0.00		
2.78	Dogs, Cats inspected by license veterainarian		1,500	4.0000	6,000.00	0.0200	120.00			0.00		
	SUBTOTAL				12,006.00		1,624.00	1,505		3,001.00		

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:
cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

	rage 4 of 3
TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NO.
Animal Welfare; Retail Pet Stores	0579-XXXX
	DATE PREPARED

IDENTIFI	CATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN									
				REPORTS					RECORDS			
										TOTAL		
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-		
SECTION OF REGS.	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES PER	RESPONSES	PER RESPONSE	HOURS	RECORD- KEEPERS	HOURS PER RECORD-	KEEPING HOURS		
REGS.		so state)		RESPONDENT	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	KEEPER	(Col. I x J)		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)		
2.102	Approval to hold animals/have someone else hold animals	APHIS 7009	1	1.0000	1.00	0.5000		ï		0.00		
2.125	Information concerning busines - beyond what is currently identified		1,500	1.0000	1,500.00	1.0000	1,500.00			0.00		
2.1	Online prelicensing tool to guide request for licensing/registration packets		500	1.0000	500.00	1.0000	500.00			0.00		
3.66 and 3.6	Approval for Less than minum housing requirements for dogs and cats		15	1.0000	15.00	1.0000	15.00			0.00		
3.8	Written standard procedures (plan) for exercise and recording thereof		1,500	1.0000	1,500.00	2.0000	3,000.00			0.00		
3.8	Documenation for exercise exemption and recordkeeping		15	5.0000	75.00	0.5000	38.00	1,500	1.000	1,500.00		
	SUBTOTAL				3,591.00		5,054.00	1,500		1,500.00		

INSTRUCTIONS: Use this form when a single information collection documen	t involves multiple reporting and
recordkeeping requirements. The totals of the figures in cols. should be entered in	item 13 of OMB-83-1:
cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b;	cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

		r age 5 or 5
	TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NO.
e	Animal Welfare; Retail Pet Stores	0579-XXXX
,c		DATE PREPARED

IDENTIF	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
					RECORDS	RECORDS				
										TOTAL
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
(4)		(a)	(6)	RESPONDENT	(5)	(0)	4.0		KEEPER	40
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
3.13 and 3.86	Consignment to carriers and intermediate handlers		1,000	4.0000	4,000.00	0.1000	400.00			0.00
3.13, 3.14, 3.16, 3.36, 3.61, 3.86,	Shipping documents and written instructions for food, water, medication, and special care attached to enclosure. Numbers accounted for under 3.113		1,000	4.0000	4,000.00	0.0500	200.00			0.00
3.13, 3.19, 3.35, 3.37, 3.60, 3.62, 3.77, 3.78, 3.86, 3.92.	Certification by consignor and attending veterinarian that animal is acclimated to temperatures outside requirements		10	5.0000	50.00	0.2500	13.00			0.00
3.14, 3.19, 3.36, 3.61, 3.87, 3.113, 3.137, 3.92	Marking requirements for transport enclosure ("live animals")		1,500	4.0000	6,000.00	0.0500	300.00			0.00
3.77, 3.78, 3.103, 3.127	Perimeter fencing variance from requirements		75	1.0000	75.00	1.0000	75.00			0.00
					0.00		0.00			0.00
	SUBTOTAL				14,125.00		988.00	0		0.00